
     INSTRUCTION GUIDE 6830/6831773

Installation instructions for KM125/129 
seat onto a Kubota BX2230

KM125/129 on Kubota BX2230 Installation (PN: 6830/6831)

  INSTALLATION SUPPORT Phone 1-800-328-1752 / Web Site www.tractorseats.com

1.

2.

 Remove old seat. NOTE: Sliding the seat for-
ward or back will allow access to the bolts. 
 Mount PED (PN: 10986) to new seat bottom 
using 5/16"-18x3/4" hex head bolts and 5/16” 
lock washers. The welded studs should be 
placed toward the front of the seat.

3. Mount seat to tractor using 5/16" flange nuts.
NOTE: You may need to slide seat forward or
back to allow access to studs.

5/16" LOCK WASHERS

5/16"-18x3/4" HEX HEAD BOLTS

5/16"-18 FLANGE NUTS

1

NOTE: Bottom of seat shown for clarity.

BACK OF SEAT

KUBOTA PED-BX2230
            PN: 10986


